M014: Signed Numbers

Answers: 1. C, 2. A, 3. C

1. Simplify the expression 
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	A.
	4

	B.
	-4

	C.
	24

	D.
	-24


Source: New York State Testing: Grade 7, 2009

http://www.nysedregents.org/Grade7/Mathematics/20090309book1.pdf
2. At noon on Monday in Minneaplois, the temperature, in degrees Fahrenheit (F), was 
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.  At noon on Tuesday, the temperature was 6 degrees higher.  What was the temperature at noon on Tuesday?

	A.
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Source: New York State Testing: Grade 7, 2010

http://www.nysedregents.org/Grade7/Mathematics/20100505book1.pdf
3. The temperature on a winter night in Kansas is
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Celsius.  The temperature decreases by Celsius.  What is the new temperature, in degrees Celsius?

	A.
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	B.
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	C.
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	D.
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Source: New York State Testing: Grade 7, 2007
http://www.nysedregents.org/Grade7/Mathematics/20070312book1.pdf
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